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template <class Type> class BSTree; //— XHPRBIARA Y, LA Aot
template <class Type> class BSTreeNode {18k

friend class BSTree<Type>;

private:
BSTreeNode<Type> *leftChild, rightChild; /8 BN 3o
Type data; 1145 R R4 1

public:

BSTreeNode () : leftChild (NULL), rightChild (NULL) { } //#it i %%, M — gk 5
BSTreeNode (Type d, BSTreeNode<Type> *Ip=NULL, BSTreeNode<Type> *mp
=NULL) : data (d), leftChild (Ip), rightChild (rp) { } /4G %%, HE—
RIS d H95
h
template <class Type> class BSTree { W= R A%
private:
BSTreeNode <Type> *root; /= X H /et RES i Hdt
void - destroy(BSTreeNode<Type> P IRIERLA p AR = XA
public;
BSTree () :root (NULL) { } /i iy
~BSTree () { destroy (oot ); }  //bityin %y
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const int Max Vertexes = 20; /15 A BT /5 3
template <class vertexType, class arcType> class Graph;
template < class arcType> struct ArcNode {7 XN s
friend class Graph <class vertexType, class arcType>;
int adjvex; //fﬂ%*ﬁ?@ﬁ%ﬁﬁ%‘jf\]ﬁé{ﬁ%
arcType weight; /3 L #91Z 8. (#0)
ArcNode<arcType> *nextarc ; /45 ] RS S e
ArcNode() { } //#Jits F %
ArcNode( int v, arcType w ) : adjvex( v ), weight( w ) , next( NULL M} s
3
template < class arcType , class vertexType > struct VertexNode {
/T8 SCTH i 45 55
friend class Graph <class vertexType, class arcType>:
vertexType data; /T /5 fit) = &
ArcNode<arcType> *firstarc ; /48 514 FRFZ 00 A B 5
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template <class vertexType, class arcType> Graph{//5E X |4

private:
VertexNode < arcType , vertexType > * VertexesTable;//Ti £i 3
int VerNum; 24§ (4775 2 %
int AreNum; /247 ff151 3¢

public:
Graph:VerNum (0),ArcNum(0){ ViR R B
~Graph ( );//¥T ¥ s %1
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